
In [7]: h,m,s=14,30,0

ds

In [2]: def inc_time(h,m,s,ds):
    """
    Function that increments the time h,m,s in ds seconds.
    @type h,m,s:int
    @rtype :(int,int,int)
    @precondition: 0<=h<24 and 0<=m<60 and 0<=s<60
    """
    h1,m1,s1=h,m,s+ds
    if s1>59:
        m1=m+s1/60
        s1=s1%60
        if m1>59:
            h1=h+m1/60
            m1=m1%60
            if h1>24:
                h1=h1%24
    return h1,m1,s1
    

In [8]: h,m,s=inc_time(h,m,s,240)
h,m,s

In [9]: time=[14,30,0]

Out[8]: (14, 34, 0)
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In [13]: def inc_time1(t,ds):
    """
    Function that increments the time represented by t in ds seconds.
    This function changes the list t
    @type t:[int,int,int]
    @precondition: 0<=t[0]<24 and 0<=t[1]<60 and 0<=t[2]<60
    """
    t[2]=t[2]+ds
    if t[2]>59:
        t[1]=t[1]+t[2]/60
        t[2]=t[2]%60
        if t[1]>59:
            t[0]=t[0]+t[1]/60
            t[1]=t[1]%60
            if t[0]>24:
                t[0]=t[0]%24

In [18]: inc_time1(time,240)
time

inc_time1
time

inc_time

In [19]: def bad_inc_time(h,m,s,ds):
    """
    Function that increments the time h,m,s in ds seconds.
    @type h,m,s:int
    @precondition: 0<=h<24 and 0<=m<60 and 0<=s<60
    """
    s=s+ds
    if s>59:
        m=m+s/60
        s=s%60
        if m>59:
            h=h+m/60
            m=m%60
            if h>24:
                h=h%24

In [21]: h,m,s=14,30,0
bad_inc_time(h,m,s,240)
h,m,s

Out[18]: [14, 54, 0]

Out[21]: (14, 30, 0)
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In [2]: matrix=[[0,0,0],[0,0,0],[0,0,0]]

In [3]: matrix[0][2]=23
matrix

In [2]: def bad_zero_matrix(n,m):
    """
    Function that returns a zero matrix, with n filas y m columnas
    @type n,m:int
    @rtype: list of lists of int
    @precondition: n,m>0
    """
    return [[0]*n]*m

In [3]: m=bad_zero_matrix(3,4)

In [4]: m[0][0]=1

In [5]: m

In [6]: def zero_matrix(n,m):
    """
    Function that returns a zero matrix, with n filas y m columnas
    @type n,m:int
    @rtype: list of lists of int
    @precondition: n,m>0
    """
    result=[]
    for i in xrange(n):
        result.append([0]*n)
    return result

In [7]: m1=zero_matrix(3,4)

In [8]: m1

In [9]: m1[0][0]=1

Out[3]: [[0, 0, 23], [0, 0, 0], [0, 0, 0]]

Out[5]: [[1, 0, 0], [1, 0, 0], [1, 0, 0], [1, 0, 0]]

Out[8]: [[0, 0, 0], [0, 0, 0], [0, 0, 0]]
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In [10]: m1

In []:

Out[10]: [[1, 0, 0], [0, 0, 0], [0, 0, 0]]
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